""""""""""""""""" to measure wires, sphere

~

=8 b. Internal micrometer

& ¢ Depth micrometer

i il

LU

J‘.Zl ’
bl
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9 c Qinometer

® d. Mechanical comparator

Clear my choice

Queston 11 —

RIUS are more sensitive than thermisto
Not yet
answered

Marked out of
200

¥ Fag question




O c Line standard measuring devices

O d. None of the above

o E A T e

RID stands for

Select one:

3. Relative Thermal Devices
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3 ) =1 g Sammrnaran ) aract




The firm joint calipers are examples of

Select one:

» L - 1 .
) a. Direct measuring|devices

= b. Indirect measuring devices

C. Line standard measuring devices

d. None of the above
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nicrometer was used to measure the major diameter of an external thre ’ d, g

i « "cyllnder is 20.0000 mm. the micrometer reading over the standard ¢
ster readlng over the thread was 21.1342 mm, then the major diameter of the

. ‘b 20,1998 mm
l
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t divisi ' ‘ ind its vernier scale SO
givision of the n

@ accuracy of the device
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If the smallest division of the main scale of the vemier caliper is 1 mm, and its vernier scale is divided into 10
divisions, then the accuracy of the device is

Select one:
2. 001 mm

* b.01mm
¢ 0.05 mm

d 1mm

Clear my choice

The accur I J
Select one
3. 1 mar

B.25min
* 5 min

d. 1 gegree
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& 2. The major diameter

1 b. The crest of the thread
2 ¢ The root of the thread

2 d. The minor diameter
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) b. False

Clear my choice

The block gauges are examples of end standard
Select one:
® 3 True

L b. False

Clear my choice
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b. 20.1998 mm
2 ¢ 22.0686 mm

& d. None of the above is correct
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Sy & = -b— - We S\ ‘u.So 124+
A
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ol the caliper scales, What reading was reconded” (2 points)
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C. "What i3 the reading of the following micrometer! (2 points) J:':I
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D. Using the following set of gauge blocks, what 18

produce an overall dimension of 47703 mm

Show your calculanons (3 pomnis)
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The bottom of the groove between the two flanking
surfaces of the thread whether internal or external

Select one:

' a. The major diameter
) b. The crest of the thread
® c. The root of the thread

) d. The minor diameter

Clear my choice




‘Which of the following is not anangulatmeaaningdevhglimhlmnt"; 43
~ Select one:
) a. Vemnier bevel protractor
® b. Sine bar
c. Clinometer

d. Mechanical comparator

Clear my choice

The spring joint C aliper is one of the direct measurnng gevices

Select one

a. True

C @ b FalseR




"m.-.—'--- » g ® (N A
© a.Heating

© b. Cooling
® c. Bending

&) d. Both A and B are §orrect

Clear my choice

The spring joint «
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Not yet
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Markad out of
2.06

\ Fllg question

e~ 8
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ot yet
mawered

p Typt: here to search

® c. Both A and B are correct

Clear my choice

We can use

t

O measure wires, spheres, shafts, and blocks




In arder to measure the offoct

and the minor diameter of the

Select one
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/Q/Questinn 2: (12 points)
7 Fill in the space: e o5 \wm
A. The reading of the following vernier caliper is 234.__eveand the accuracy

X

"\ 3 cm 4 o - main scale
\ | \ =
| | 3
| L :
— \ \ L‘l\\z\l\\\‘ }'! l\i"l \ —— yermer ,—fo:‘if
\ 3 ‘. 10 soale 334

X W AR L

9,97 waxs Zind the aceuracy i -
B. The reading of the following micrometer is ~9.2 // an )\/

=149
40

. )
9. 20 . and the accuracy is Q0%

v X

nier bevel protractor is

L The reading of the following ver
:
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In order to measure the effective diameter of the external thread using a bench m
measure the major diameter and the minor diameter of the thread.

Select one
C) a True

® b False

Clear my choice

thread, given that thg =»
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¥ Ik
ﬁ( if the smallest division of the main scale of the ve

rier caliper is 1 mm, and its vemler
dmsmns. then the accuracy of the device is

Select one:
9 a.001mm
b. 0.1 mm
O ¢ 0.05mm
O d.1mm

Clear my choice

micrometer was used to measure the major diameter of an memal
ndard cylinder is 20.0000 mm. the micrometer reading over the stanc
‘ er reading over the thread was 21,1342 mm, then the majo(
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The strain gauge resistance varies with:

Select one;
Marked out of

200 a. Heating

¥ Flag question b. Cooling
c. Bending

d. Both A and B are correct

Queston 17 Both the vernier caliper and the inside micrometes

Not yet
a red Select one:

out of a. True
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The prominent part of a t fead, whether mternal of extemal s called

Select one
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In order to Mmeasure the effective diameter of the e

‘ xternal thread using a bench |
and the minor diameter of the thread %

Select one

a. True

® b FRalse

Clear my choice

RTD stands tor

Select one

¢ 4. Relative Thermal Devices
= b. Radioactive Thermonuclear Dipoles
® ¢ Resistance Temperature Detectors

U d, Resistive Temperature Devices

..h.  Clear my choice
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In order to measure the effective diameter of the external thread using a bench micrometer, it is req
d the minor diameter of the thread.

f‘. S,électone:
O aTue

I @ b.Faise




)ench micrometer was used to measure the major diameter of an
nal thread, given that the diameter of the standard cylinder is
20 0000 mm. the micrometer reading over the standard cylinder
was 20.9344, the micrometer reading over the thread was 21,1342
mm, then the major diameter of the thread is equal RhiEras =

Select one:
a. 198002 mm

b. 20.1998 mm
c. 22.0686 mm

d. None of the above 1s correct




prcmment part ofa thread,iiwheme inter

- Select one:
< a. The major diameﬁsr

® b, The crest of the thread

¢. The root of the thread



. The pitch diameter of the thread is another name for the effective

Select one:
O a.True

O b. False




Question 3: (4 points)
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Select one:
O a True

® b, False
Clear my choice

A bench micrometer was used to measure the minor diameter of an external thread, given that the diameter of the standard cyl
20.0000 mm. the micrometer reading over the standard cylinder using a prism was 30.3218 mm, the mictometer reading oves
using a prism was 25,7424 mm, then the minor diameter of the thread is equal to

Select one:
® 3154206 mm

& b, 245794 mm
W C.360642 mm

& d. None of the above is comect




s N Orger 10 measult ¢ : ) smeter of the external thread using 8 bench micrometer it 1s required 1o

measure 1he maj LLamet ey : P
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M;mmammuwmmmmm“h o scaie b
10 divisions, then the accuracy of the device is

Select one:
O a.001 mm | |
® b.0.1 mm f
O ¢ 0.05mm Il :
O d.1mm 1
Clear my choice

Queston 11 The accuracy of the vernier bevel protractor IS

Not yet

answered Select one:

Marked out of O a. 1 min

¥ Flag question W b25mm

@® ¢ 5min
L d 1 degree

Clear my choice
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mmn' r"ar' ora ,'\Il_'il'.: whethet ernal Or extema
Select one:
© aThe major diameter
® b The crest -r: the threa ‘
L 1
. The oot of the t
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can use ---

Select one:

® a. External micrometer
b. Internal micrometer
¢. Depth micrometer
d. Gauge blocks

e. None of the above is correct

Clear my choice

> measure the depth afi
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- O almin
& b. 2.5 min
OQSmin

L d. 1degree

Which of the following is not an angular measuring device / instrument

Salect one:
a. Vemier bevel protractor

b. Sine bar

¢ Clinometas I I
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d. Both A and B are correct
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ich of the following is not an

Select one:
() a, Vernier bevel protractor
W b, Sine bar

W |'l
¥ P mmnlll m

Wl Clinometer

® d. Mechanical comparator

Clear my choice
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aCy of the micrometer

HES
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accnracy of the device is

Select one:
v a.001 mm

® b.01mm
c. 0.05 mm

~ d.1mm

Clear my choice
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The spring joint caliper is one of the direct measuring
devices

Select one;

) a. True

) b. False



LTINS 13
- The block gauges are examples of end standard

S

Select one:
® a, True

O b. False




Question 3
Not yet answered

Marked out of 2.00
" Flag question

The external micrometer is one of the
indirect measuring instruments

Select one:
a. True

b. False

Question 4
Not yet answered

Marked out of 2.00
{" Flag question

We can use to measure
wires, spheres, shafts, and blocks.

Select one:

® a. External micrometer

RN [N O RIS S —m— S—



.'_'Wmch of the following is considered as manufacturing
,‘iconflguratlon of the RTD
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the standard cylinder is 20.0000 mm. the micrometer reading over the standard cylinder was
“micrometer reading over the thread was 21.1342 mm, then the major diameter of the threadis
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We Can USe —~—=-~r=rrmmmmcmecmneanennna to measure
wires, spheres, shafts, and blocks.

Select one:

a. External micrometer

b. Internal micrometer
) c. Depth micrometer
. d. Gauge blocks

' e. None of the above is correct
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Which of the following is not an angular measuring device / instrument

Select one:
O a. Vernier bevel protractor

b. Sine bar

c. Clinometer

® d. Mechanical comparator

Clear my choice

) Tvpe here to search




Final exam

M..W"mm lab (090“42)(-—3 :::;:. l..z(". -
St oot
udent name; ... R e Ty o P ——— g
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Select the bet nswer for each of the fullowing parsgraph

What device is similar 10 an RTI but has » negative fempersture cosfficlent?
Strain gauge
Thermistor P\
Nmﬂvo-cm RTD
Thermocouple

Temperature sensing can be uhhv;by the use"of
Thermocouples

RTIs
Thermistors

Al of the above 3 10 RY

output voltage of  typical thermocouple Is
MMIWMV
greater than | V
Thermocouples vary resistance, not voltage
None of the above
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sench micTometer was used 1o measure the minor diameter of an 31 thresd, given that the dig
it gare oylinger 1s 200000 mm. the mis

.?.:, mm. the mictometer reading

The theead i« equal !
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The strain gauge resistance varies with:

Select one;
a. Heating

D. Cooling

. I :
endaing




